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Time : 3 Hours Total Marks: 100
Instructions: 1. All the questions are compulsory.
2. Figures to the right indicate full marks.
3. Draw neat dlagrams wherever necessary.
Q.1 Answer any Two of the following.
a)  Whatis general equilibrium? Explain general equilibrium in consumption and
production
b)  Explain Pareto's marginal conditions of efficiency in consumptlon
c) Explain Arrow’s impossibility theorem.
Q.2 Answer any Two of the following. :
a) Define price discrimination and state various degrees price discrimination.
b) Whatis dumpmg‘? Explain dumping as a case of international price
-discrimination.
¢) - Discuss the concept of product dlﬁ'erenuatlon in monopolistic competition.
Q.3  Answer any Two of the following.
a)  Explain Paul Sweezy’s kinked demand curve model of oligopoly.
b)  Define the cartel and discuss the equilibrium under market sharing cartel.
¢) - What are the basic concepts of game theory? Explain.
Q.4  Answer any Two of the following.
a) Define economics of search and explain the importance of economics of
search. _
b) - Discuss.the concept of Lemon’s market with example.
¢)  Explain the principle-agent problem with reference to industry:
Q.5 Write notes (Any Two).
a)  Relationship between perfect competition and Pareto optlmallty
b) - Excess capacity in monopolistic competmon
¢)  Nash equilibrium \
d) Problem of moral hazard
: OR
Q.5 Choose the correct alternatives of the following.
1. Asituation in which it is impossible to make any 1nd1v1dual better-off without
making someone worse-off is said to be ~-----------
a) Pareto-optimality -
b) Utility
¢) Demand
d) Social welfare
2.  --—-----=--analysis deals with the equilibrium of the entire organization of
consumers, producer’s, firms and mdustnes in an economy. -
a) General equilibrium
b) Partial equilibrium
c)Business cycle.
d) Rational expectation
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In Pareto’s analysis there is no place for — comparison.
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a) Internal
b) Collective
¢) Social
d) Personal
Impossibility theorem was introduced by—-----
a) Hicks
b) Kenneth Arrow
¢) Adam smith
d) Chamberlin
Pareto analysis ignores-------- changes that occur in the economy.
a) In production
b) In supply
¢) In Technical
d) In Demand
AR & MR curves under monopoly are
a) Horizontal
b) Upward sloping
¢) Downward sloping
d) Vertical

Which of the following is the fundamental source of monopoly power?
a) Perfectly elastic demand
b) Perfectly inelastic demand
¢) Unitary elastic demand
d) Barriers to entry of the new firms
First degree price discrimination takes place where, ----------------
a) Different prices charged in different markets.
b) Different prices charged for different segments of the commodity.
¢) Different prices charged for different customers for each unit of
the same commodity.
d) Commodity is transferable from one to another.
Product sold in monopolistic competition is ------
a) Homogeneous
b) Differentiated
¢) Inferior
d) Expensive
Under dumping a monopolist’s demand curve in the domestic market is -------
a) More elastic
b) Less elastic
¢) Horizontal

d) Vertical
In Cournot's model, each producer ultimately produces ------- of the total
output.

a) 1/5

b) 1/4

c) 173
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According to the kinked demand curve model, rival firm follows the --—--
a) Price Promotion
b) Price Reduction
¢) Production Promotion
d) Production reduction
------- is'a form of imperfect collusive oligopoly.
a) Centralized Cartel
b) Market Sharing Cartel
¢) Price Leadership
d) Product Leadership
Which of the following is a non-zero sum game?
a) Chess
b) Prisoner's Dilemma
c¢) Cartel
d) Competition in duopoly -
Tracking the final equilibrium in the absence of a dominant strategy is called
e
a) Nash Equilibrium
b) Firm Equilibrium
¢) Industry Equilibrium
d) Prisoners Dilemma
An individual is willing to pay something for information because ----- -
a) Information is costly.
b) Information is cheaply
¢) Information allows individuals to increase utility
d) Information is a public good

Which of the following is an example of the lemons market?
a)  Insurance market
b)  Second hand car market
c) Vegetable market
d) Gold market \
In competitive insurance market adverse selection harms ----
a) High risk individuals
b) Low risk individuals
¢) Owners of insurance companies
d) Everyone
A situation where people who have taken out insurance behave more
recklessly as a result is known as -------
a) Bad luck
b) Adverse selection
¢) Asymmetric information
d) Moral hazard
Signalling is a way of solving —---
a) Dynamic problem
b) Moral hazard problem
c¢) Coordination problem
d) Adverse selection problem
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